	


	Case Study 7

Profit sharing

	A multinational corporation has its registered office in country A and subsidiaries in countries B, C, D, E and F. Union representatives in these latter countries discover that a profit-sharing scheme has been set up for employees in the country where the group's general management is based.

The profitability of sites in country A is significantly lower than that of sites in countries D - F. However, the workers in country A account for 85% of the group's total workforce.

This profit-sharing scheme results in a wage rise of 5-10% depending on the category of the worker in country A.
How do you think the European Works Council should tackle this problem?
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